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function rotate_90(pt){
var [x, y] = pt
return [y, —-x]

}

function vec_minus(ptl, pt2){
var [x1, yl] = ptl
var [x2, y2] = pt2
return [x2 - x1, y2 - y1]
s

function vec_plus(ptl, pt2){
var [x1, yl] = ptl
var [x2, y2] = pt2
return [x1 + x2, yl + y2]
s

function half(pt){
var [x, yl = pt;
return [x / 2, vy / 2]
¥



4

OO mEm1 (2) OO

b Eld Lévy CEHIEDERICULIED - T, 7O T LZZEFIFRL.
HEARIC ptl —> pt2 ZEEDRSHKDDIC ptl->ptm—>pt2 &
ZITIERL, ptmOEELFHEEL RS

function levy_c(ptl, pt2, depth){
if (depth == 0){
draw_line(ptl, pt2)
} else {
var ptm =
vec_plus(
rotate_90(half(vec_minus(pt2, ptl))),
half(vec_plus(ptl, pt2)))
levy_c(ptl, ptm, depth - 1)
levy_c(ptm, pt2, depth - 1)
s
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function kadail(n){
levy c([0.27, 0.4]1, [0.73, 0.4], n)
¥
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Z CTI|f12+122| < € function kadai2(a){

N function f1(x, y){return y — Math.sin(x);}
ClxolcEEEIET B K function f2(x, y){return y x y — a * x;}
_ var x = 1.0;

C@“% *B,H}MEL?I(], var y = 1.0;

S N=EAly f— var EPS = 1.0e-10

1) LTWBDY, &= [T while (true){
TR S » var ffl = f1(x, y);
zlnci, tjj]én%ﬂﬁ var ff2 = f2(x, y);

I if (ffl x ffl + ff2 x ff2 < EPS) break;
:E)R'ﬂ-/'—g_%’ var all = -Math.cos(x);

S 12 = 1;

BAISEVERIE, (a, a) var a21 = -a;
IC ~ . +-° var a22 = 2 x y;
[SE<73S. cicl, a var det = all * a22 - al2 * a2l;
H0.75< BL\@fl_EJ: N X = x — (a22 x ffl - al2 x ff2) / det;

y =y — (-a21 % ffl + all x ff2) / det;

%j(%(fd:%t, (O’ O) ieturn [x, yl
DINDREISIZLLIE>TL ¢}

- _ puts(kadai2(0.1))
gl - (gﬁﬁnlyg\
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